- . Remember: Law of Sines

3.02 Law of Sines ~ Ambiguous Case Notes | Name:
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b c

In some cases, you'll be given a consecutive angle, side, and side (ASS). For these problems you have
what’s called The Ambiguous Case- meaning: you don’t know how many triangle solutions you'll have.

There could be no triangle, one friangle, or even two triangles that work for your given measurements.

Here’s what you do:

-Find your first missing angle (solution 1) using i,aw of Sines

-Check it to see if it makes sense
- given angle + solution 1 = 180° means NO TRIANGLE
- given angle + solution 1 < 180° means at least 1 TRIANGLE

-If you have 1 triangle, you may have two. Find your second possible angle.
-180° — solution 1 = second possible angle

- Check it to see if it makes sense

- Examples:

-l.a=2,¢=1,C=50°

- given angle + solution 2 > 180° means this solution is no good; only 1 TRIANGLE; solve

- given angle + solution 2 < 180° means 2 TRIANGLES; make sure you solve both

Just remember: if you're given ASS, the problem is going to be a pain in the .
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(" APC3.02 Law of Sines - Ambiguous Case Practice Date:

a) Determine the number of solutions for triangle ABC. b) If there is only 1 solution, solve the triangle.
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